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I 1 mwn: source for obligation to bring nTin from PYIn (unless otherwise stipulated, per 'n n1wn)
a  Source:v.1-noting that noa cannot come from 93, must associate anything that comes from flock and herd to noa
i Justas:noais an obligation and must come from 510, so too anything which is 1210 must come from p%m
ii  Therefore: if one generates a NN by taking a 91 “nmin "y 0" or “nMYW *YY *IN” — must come from PHIN
b Inany case: 201 must always come from 191 (not from w”yn, since it must be used for something to be eaten or drunk)
I Source for noaitself: Rn»72
a  N77:D1¥n noa:mMT noa (both called “noa”); just as B1¥N Noa came from PYIN (no WY1 operating yet), so too MM Noa
by cannot prove from DMxn Ny, as that was TWar ’R (no possibility of w"yn)
i &”reven though it is impossible — good proof nonetheless (as these are only references to “noa”)
ii  p”r oxn noo is unlike M7 NoY, as it has no blood/m MR procedures
1 (challenge: if " holds to principle of 7war "Rwn IWaR P17 PR, he shouldn’t shift arguments; if he relinquished
principle, this one could be challenged as well from 9271 noa (in v 927R1)
2 (answer: Y™ was speaking to R"’s approach — if you reject the 137 PR argument, this still defeats)
3 ~”1v.2compares all D'noa to each other = M7 noa must be like D*1¥n Noa (not from w"yn)
(a) (challenge: why didn’t 8" defeat »"1's argument from 9270 noa?
(b) (answer: he was responding to " according to his approach that 7war 'Rwn TWar 117 PR)
(c) (question: why didn’t ™ challenge him again from war?
(d) (answerl (nww 7): this proves that one cannot defeat a wp>n with reasoning)
(e) (answer2 (the "w17p 1173”): we cannot use something inferred via wp>n (M7 NvY) to inform via another wp’n
(nmn and other obligations); rather, n7ay puts all o'noa under one rubric)
¢ Question: what is y™'s source for rule that n21n may not come from v’yn?
i Answer: his take on interpretation and application of list of m127p in v. 3 to be used as models:
ii 925K 71 (quoted by 5x1pw): each 127p listed there informs rest of list about one rule
1 A5 requirement of *93 (doesn’t mean p7tn — that is written re: n%w — v. 4) — knife (for nvNwY)
(a) Source: v.5—and n1py was an n9y (v. 6)
2 fmp: only eaten by nnnd Mot
(a) Can’t be: in re: DWRY NRYN, which are written explicitly (v. 7)
(b) Nor: 1max mHv, inferred from extra phrase in v. 8
(c) Answer: some infer from v. 8, some from v. 3
3 nNvOm 91 is wTpN (see 1¥ DONAT)
4 pwx:just as placenta of DWR is not W1T1p; neither is placenta of any w7y sanctified
(a) Note: he must hold that »w1p mTon are only sanctified at birth
(i) And:®™ (the author) infers from impossible cases (e.g. DWR — only male)i.e. 7VaR IRWN VAR 1’17
5  ox1om just as any leftovers were burnt — but no live animals included
(a) So too: all »wTp — any living “leftovers” (e.g. 9»1 1795MmW DWR) aren’t burned, but graze etc.
6  opswi narjust as WNYY can generate and become Y19, so too with all maavp
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iii ~ Alternate version of ¥”1 (only replacing 7m1p, n8VN and DWK)
1 Arp:just as nnan sanctifies others via ny’93, so too all na7p
(a) Justification: if only written in re: nnin, 8”70 because it is soft, it is Y512 — not nrvn
(i) And if: only written in re: nkon, 8”70 because it is “bubbly” with fat it is ¥13, not so with nmn
2 naon: just as nRoN must be brought from YN, during the day and with his right hand, so too all na1p
(b) Sources:
(1) 517 v. 9 — must be his, not from communal funds, nor from wyn
(if) przisinferred from general phrase in v. 10 (a: it was mentioned inadvertently)
(iii) 27 72 inferred from yaxr and n1nd (a: mentioned inadvertently)
3 pwx:just as bones of DWR are permitted, so too with all nap
iv. Question: how does y™ interpret v. 1?
1 Answer: uses it (per mar 12 n11) to teach that noa Amn (surplus funds) are to be brought as Dn%w
2 Challenge: that is inferred (per Y®mwT Mar) from v. 11
(a) Interpretation: that which comes from 1x¥ (i.e. noa) will come as Dn%v
(b) Challenge: we derive it from v. 12 (xn»12), teaching that anhy surplus of noa (nba whose year lapsed, or
D'now that come on account of noa) that they require all mxn associated with 5w (v™n ,n2no ,07501)
(i) And: only lamb requires 1"9R, not goat (v. 13)
3 Answer: there are three sources:
(a) One: for a case where the noa’s year lapsed and it is currently after noa
(b) Two: for a case where the noa’s year didn’t yet lapse, but it is after noa
(i) Justification: we may have thought that since it is fit for 22» nos, can’t be DnYw - Y"np
(c) Three: for a case where neither the year nor nos has lapsed
(i) Case: where it was lost, another designated for noa and it was found before midday of 1
(ii) Justification: we might have thought that since it is perfectly fit for nos, can’t be nnw — Y"np
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